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your mind. What's up?
: T just got a call from the head office. I'm
being transferred.
. What department are you getting transferred
to?
Theyre sending me to the sales department,
but I wanted to go to public relations.
Oh, that’s why you dont look happy.

Yeah, recently I've been working hard to
increase my qualifications by taking courses
related to public relations.
Did you talk about it with the company?
I did. But they said there’s nothing they can
do at the moment.

I see. Well, I'm sure youll get a better
opportunity some day.
. Thanks. This just isnt my time I guess.

£ £ £ E

= £
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3. [EA =] A3t W& FA 51937]

M: Hello, everyone. Recently, weve been
discussing how to work out safely, focusing
on the importance of “warming up’. But,
“cooling down” after exercise is just as
important as “warming up  before exercise,
in order to reduce the risk of injury.
“Cooling down” means gradually slowing
down the level of activity. It helps the heart
rate and breathing return to normal, and can
prevent dizziness or pain. It also helps the
body flush out toxins and release tension.
When exercise is suddenly stopped, blood
and waste products stay in the muscles,
which can cause swelling and pain. “Cooling
down” helps the blood return to the heart in
adequate quantities so as to reduce the
amount of waste products in the muscles.

[ZAYE] A7t & D shes)

. Julie, it's 4:30. Did you find all the books you

need for your science paper?

: Yes, luckily I found two, so I dont need to

go to a bookstore.

Good, lets go to the checkout. I found

everything I need in this science magazine.

Wait a minute, Mike. You can't check out

periodicals such as magazines.

. Really? I didn't know that. But I need these

10 pages of articles.

It's okay. They allow you to make
photocopies.

. Great. Can I pay for copying with cash?

- No, you cant. In this library, you have to

use a ‘copy card”. You can use mine if you

need to.

Okay. Thanks.

: It's almost closing time. While I borrow the
books, you'd better get your pages copied.
You have to go downstairs.

M: Okay.

f2 € £ 2 £ 2 g%
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5. [EAIYE] A7 AES F9

A=

M: Good afternoon. May I help you?

W: Yes, please. I'm looking for a pencil holder to
put on my desk.

M: Okay. We have a wide selection of pencil
holders. Do you want a round-shaped one or
a square—shaped one?

I prefer a square—shaped one.

Then, how about this one? It is small so it

doesn't take up much space on your desk.

Hmm, it looks cute. But I want a holder

with some separate blocks.

No problem. Then, this one will be right for

you. It has one big section in the middle

with two small sections on both sides.

W: T like it, but is there any other model with
different pictures on it? I don't like the
cartoon animals on it.

M: We have the same model with flowers on it.

W: It's great. T'll take it.

2. [EAYE] FAI9 AA 7937

M: Good morning, how may I help you?

W: I'm interested in the swimming course and
the cooking course this community center is
offering this summer. Are they still
available?

: Yes, there are a few spots left in both.

. Good. How much is the registration fee?

: The fee for each course is 50 dollars. But if
you take two or more courses at a time, you
get a 109 discount.

: Great. I'd like to register for both courses.
So, the total is 90 dollars, right?

M: Right. Oh, one more thing. If you are a
resident in this town, you get an additional
five dollars off each course.

W: That's perfect. I just moved to the
neighborhood. I have my resident card with
me.

M: Okay. How would you like to pay, cash or
credit card?

W: Cash, please.

===

=

‘WI Brandon, you seem to have something on‘
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